Predict the products and write the balanced equation for each of these reactions:

Combustion

a. CH,+30,°> 200, +2.|.[lo
b. CeH;,04 '4)2 > b COZ ‘hbHZO

Synthesis
a.28r+ O, > zsro

b4Na+ O, ZNOLO

Decomposition
a. MgBr, > Mg + BrZ

b.2AlBr; > LA 1-38,'2

Single Replacement

a Zn+ CuSO,> ZNS04 ¥ Cu
b. Ni+ MgSo,> R

Double Replacement (s) .
a. FeCL+ K,8> Fes "+2K(| ()

(¢0)
b. ZnSO,+ SrCl, > znclZ F Sr501. ()

te
c. C;H;OH+30,~> 2C02 +3H20

d. C5H12+8029 5(()2 i‘bHZO v

c.2K+ ChL > ZKCI
d. Ca + F29 Ca FZ

c. HS > Hz_ +S
d2ki> 2K fIZ

C. Br2+ C&Clzé CaBrz {. ('z
d. Na+1H,0> 2 NaoH + HZ

(8] .
¢.2AICL +3Na,COs > Al (( 05), FoNacl (o)
%




Chemical Reactions — Equation Worksheet

—

Balance the following equations, then state what type of reaction it is.

Q1 4Fe + 30, > LFe0s L2 dFe + bHO > 2Fe(0d);+ 3H;
D3 2KClO; > 2KCl +30; 4 ¢, + 2LI > 2Ll + L
D 5. 2PbO, > 2P0 + O A6 Cu + 2AgNO:s > Cu(NOs), +2LAg
DR 7. 3KOH + H;POs> KPO, + SH0

DR 8. 2AINOs); + 3H80, >  AlL(SOs + bHNOs

SR 9. 2A1 + SPb(NOs) > 2AI(NO;); + 3Pb

iy (10) NaSO; + 2HCI > 2NaCl + H0 + SO

In the following equations, the reactants are written correctly. Identify the type of chemical reaction it is,
then complete the equation by writing the correct products and balance it.

1. 2ZHgO > ZH'Q ¥ OZ

> 2Mgo

v 1m0 > 2KoH + K,

4 0 + 2HCI > (a(l, + #,0

5. INaclos > INa(l t30,

6. 3zn + 2HPO, > ZN,(P0g), +34,

2. IMg + O

3. 1K

7 si o+ 2CL D> gi(bt
8  AINOs); + INH,0H > Al (0H), 3 NHeNO,
9. 1AgNOs+ CaSOs - A915°4 F (a(NO3),(%0)
AlF; > |\ |Q
F, N cank replate ¥
2
d,
B,

10. Ch +
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